Practice Test 17

Class Objective: | am able to answer all the questions based on what is taught till now

Practice A: Match the Correct pair of tools and uses

#(120) R(E)EET
BH(TALR)D FFE(LPA) ()L ET
B%(P) FHRETVWEA)LET
ME(EWY X 9) R(E) Y £

(D A)D STz EEEWY)LET
EE(LY X 9) F(LB)NET
SAHLE BA(D)F %9

Bl AR BFEWP)E BH)DTDIC FE(OMH)VET,
1. B(EA)IRMB)EE

2. EXH—(F

3. WEEH(F=LBAFL)IZ

4. TrAILIE

5. BIR(LCIKVLI)IE

Practice B: Complete the Responses

Bl(nly): F(dr=d)Ly Toiavld ESTID TEM)VR D) TESANA)TT |
= ETH BLI)NT LLATIN, BEIEEMD)L B(BD)IT TE(SRA)TT,
Bl(nLy): Il [ERA)TI M IFHE(FOSANLET - E(DH)NET |

- EBIEA TT, FE(TVEA)TEHDIC F(OA)NET,

1. SORBE(SSZA)E BUAKT. KE)D Z(EH)NTT R, [BSEAIF)-L\WNTT )
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